y Dach pro Wert in
Tabelle eintragen
i X Yi X2 y;2 Xi* Vi y Dach =7 - 0,5x
1 2 5 4 25 10 6
2 2 7 4 49 14 6
3 4 4 16 16 16 5
4 4 6 16 36 24 5
5 5 4,5 25 20,25 22,5 4,5
6 6 3 36 9 18 4
7 6 5 36 25 30 4
8 8 3 64 9 24 3
[ = [ = [ sss |

- X quer - y quer 4,625 - 4,688 = 21,68
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einsetzen)

21,39

21,98

(1/n 2 (x?) - (xquer)? 201/8-21,39= 3,735

SA(x) Vs? V3,735 = 1,93

(1/n 2 (y?) - (yquer)? 189,25/8 - 21,98 = 1,676

SA(y) Vs? V1,676 = 1,29
b ausrechnen 2 (x"g))(lz(?();q::;:;: er)/ | 1585 2&;_262251’ 3:'688) / Minus 0,5 b fiir y Dach = a + bx
aausrechnen (durch b yquer - b - xquer 4,688 - (-0,5 - 4,625) = 7 "a"iny Dach = a + bx

Kovarianz Cov (X,Y)

1/n Z (xi-yi) - (xquer-yquer)

158,5/8 - 21,68 =

Minus 1,8672

Korrelations-
koeffizient (Pearson)

r = Cov (X,Y) / SA(x) - SA (y)

Minus 1,8672 /1,93 - 1,29

Minus 0,7447
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